

## SOME LIMIT THEOREMS ON REVERSED BROWNIAN MOTION

BY RONG WU

*Stanford University*

Let  $B$  be the standard one-dimensional Brownian motion,  $T_x = \inf\{s \mid B(s) = x\}$ ,  $x > 0$ ,  $T = T_0 \wedge T_a$ ,

$$\gamma_x(t) = \begin{cases} \sup\{s \mid s \leq t; B(s) = x\} \\ 0 \text{ if above set} = \phi \end{cases}, \quad \gamma(t) = \gamma_0(t) \vee \gamma_a(t)$$

where  $a > 0$  is fixed and  $W(s) = B(T - s)$ ,  $0 \leq s \leq T$ . Let  $Z(s)$  be the restriction of  $B$  to the interval  $[\gamma(t), t]$ , that is,  $Z(s) = B(\gamma(t) + s)$ ,  $0 \leq s \leq L(t)$ . In this paper we use a "time reversal" argument to study relations as  $t \rightarrow \infty$  between the processes  $Z$  and  $W$  under  $P^y(\cdot \mid B(t) = x)$  and to evaluate some limits related to  $L(t)$ .

**0. Introduction.** Let  $B = (B(t))_{t \geq 0}$  be the standard one dimensional Brownian motion process, and let  $P^x$  denote the probability associated with the Brownian motion starting from  $x$ .  $P^0$  will be written as  $P$ .  $\theta_t$  is the shift operator.

Let  $P^{x;t,y}$  denote the probability for the conditional probability under  $B_0 = x$  and  $B_t = y$ . That is,  $P^{x;t,y}$  is the unique probability on  $F_t^0$  where  $F_t^0 = \sigma(B(s), s \leq t)$  with the following property: If  $0 < t_1 < \dots < t_n < t$  and  $E_1, \dots, E_n$  are Borel subsets of  $R^1$  (let  $\beta$  denote the Borel field on  $R^1$ ), then:

$$P^{x;t,y}(B(t_j) \in E_j; 1 \leq j \leq n) = \int_{E_1} \dots \int_{E_n} \frac{p(t_1, x, x_1)p(t_2 - t_1, x_1, x_2) \dots p(t - t_n, x_n, y)}{p(t, x, y)} dx_n \dots dx_1$$

where  $p(t, x, y) = (2\pi t)^{-1/2} e^{-(x-y)^2/2t}$  is the Brownian transition density.

For an arbitrary  $\sigma$ -field  $F$ , let  $bF$  denote the class of bounded,  $F$ -measurable functions.

It is immediate that if  $Z \in bF_t^0$ , then  $E^{x;t,y}(Z)$  is a version of  $E^x(Z \mid B(t) = y)$ . Let us denote  $E^x(Z \mid B(t) = y)$  by  $E^{x;t,y}(Z)$ .

We define

$$T_x = \inf\{s \mid B(s) = x\}, \quad x \geq 0.$$

$T_x$  is called the hitting time of  $x$ . We will also write

$$T = T_0 \wedge T_a = \inf\{t \mid B(t) = 0 \text{ or } a\},$$

where  $a$  is fixed and  $a > 0$ . If  $t > 0$ , define

$$\begin{aligned} \Delta_x(t) &= \{\omega \in \Omega \mid 0 \leq s \leq t: B_s(\omega) = x\}, \\ \gamma_x(t) &= \begin{cases} \sup\{s \mid s \leq t, B(s) = x\} & \text{if } \omega \in \Delta_x(t) \\ 0 & \text{if } \omega \in \Omega - \Delta_x(t), \end{cases} \\ L_x(t) &= t - \gamma_x(t), \\ L(t) &= L_0(t) \wedge L_a(t), \\ \gamma(t) &= \gamma_0(t) \vee \gamma_a(t). \end{aligned}$$

Received October 1980; revised August 1981.

AMS 1970 subject classifications. Primary 60J65; secondary 60F15.

Key words and phrases. Brownian motion, limit, reversed.



$\gamma_x(t)$  is the last exit time from  $x$  before time  $t$ .

For each  $t > 0$ , consider the process  $B$  restricted to the interval  $[\gamma(t), t]$ . Define a process  $Z$  as follow:

$$Z(s) = \begin{cases} B(\gamma(t) + s) & \text{for } 0 \leq s \leq L(t) \\ \Delta & \text{for } L(t) < s, \text{ where } \Delta \in \bar{R}^1. \end{cases}$$

Set

$$\begin{aligned} \sigma_Z &= \sigma(Z(s), \quad s \geq 0). \\ W(s) &= \begin{cases} B(T - s) & \text{for } 0 \leq s \leq T \\ \Delta & \text{for } T < s, \end{cases} \\ \sigma_W &= \sigma(W(s), \quad s \geq 0). \end{aligned}$$

In Section 1, we shall prove some relations between the processes  $Z$  and  $W$  and that for arbitrary  $y$  and  $0 < x < a$ ,

1.  $\lim_{t \rightarrow \infty} P^y(L_0(t) < L_a(t) | B(t) = x) = \frac{a - x}{a}$ ,
- $\lim_{t \rightarrow \infty} P^y(L_a(t) < L_0(t) | B(t) = x) = \frac{x}{a}$ .
2.  $\lim_{t \rightarrow \infty} P^y(L(t) < s | B(t) = x) = P^x(T < s), \quad s > 0$ .
3. For any  $k \geq 1$ ,  $\lim_{t \rightarrow \infty} E^y(L^k(t) | B(t) = x) = E^x T^k$ .

These results correspond to the following results which are well known:

$$\begin{aligned} P^x(T_0 < T_a) &= \frac{a - x}{a}, & P^x(T_a < T_0) &= \frac{x}{a}, \\ E^x T^k < \infty, & & E^x T &= x(a - x) \quad (\text{see [2]}). \end{aligned}$$

The central result of Section 1 is Theorem 1. The Result 2 is a direct corollary of Theorem 1, and the Result 3 follows from 2 after making some uniform integrability type estimates. The Result 1 is obtained in the process of proving Theorem 1.

In Section 2, we apply the above results to excursion of Brownian motion.

**1. Limit theorems.** We shall use a “time reversal” argument due to Gettoor and Sharpe in [4] to study the relation between the processes  $Z$  and  $W$  and evaluate the limits in the Results 1, 2 and 3.

Let  $\phi_t$  be the reversal from  $t$  operator; that is,  $B(s) \circ \phi_t = B(t - s), 0 \leq s \leq t$ . In [4], it is shown that:

$$(1.1) \quad \text{if } Z \in bF_t^0, \text{ the } E^{x;t,y}(Z) = E^{y;t,x}(Z \circ \phi_t).$$

**LEMMA 1.** *If  $s < t$ , the measure  $P^{x;t,y}$  has a Radon-Nikodym derivative on  $F_s^0$  with respect to the unconditional measure  $P^x$  which is uniformly bounded and tends to 1 as  $t \rightarrow \infty$ .*

**PROOF.** For any  $A \in F_s^0$  we have

$$P^{x;t,y}(A) = E^x \left\{ I_A \frac{p(t - s, Bs, y)}{p(t, x, y)} \right\},$$

thus we obtain

$$(1.2) \quad \frac{dP^{x;t,y}}{dP^x} = \frac{p(t - S, B_s, y)}{p(t, x, y)} \quad \text{on } F_s^0.$$

It is evident that the above right side converges boundedly to 1 as  $t \rightarrow \infty$ .

COROLLARY. For  $s < t$ , we have:

$$(1.3) \quad P^{x,t,y}(T_0 \in ds) = P^x(T_0 \in ds) \frac{p(t-s, 0, y)}{p(t, x, y)},$$

$$(1.4) \quad P^{x,t,y}(T_0 < T_a, T_0 \in ds) = P^x(T_0 < T_a, T_0 \in ds) \frac{p(t-s, 0, y)}{p(t, x, y)},$$

where

$$P^x(T_0 \in ds) = \frac{x}{\sqrt{2\pi s^3}} e^{-x^2/2s} ds,$$

$$P^x(T_0 < T_a, T_0 \in ds) = f(x, s) ds = -\sum_{n=-\infty}^{\infty} p_x(s, 0, 2na + x) ds$$

(see [2] page 170).

As is well known,  $\xi \in \sigma_Z$  is equivalent to the condition that there exists  $g = g(x_1, x_2, \dots, x_n, \dots)$  where  $g \in \beta_{\Delta}^{\infty}(\beta_{\Delta}^{\infty} = \beta_{\Delta} \times \beta_{\Delta} \times \dots, \beta_{\Delta} = \beta(R' \cup \Delta))$  and  $0 < s_i, i = 1, 2, \dots, n, \dots$  such that  $\xi = g(Z(s_1), \dots, Z(s_n), \dots)$ . Abbreviate the above expression as  $\xi = g(Z(\cdot))$  (see [3]).

LEMMA 2. If  $g \in b\beta_{\Delta}^{\infty}(|g| < M_g)$  then for any  $y$  and  $0 < x < a$  we have:

$$(1.5) \quad \lim_{t \rightarrow \infty} E^y(g(Z(\cdot)); L_0(t) < L_a(t) | B(t) = x) = E^x(g(W(\cdot)); T_0 < T_a),$$

$$(1.6) \quad \lim_{t \rightarrow \infty} E^y(g(Z(\cdot)); L_a(t) < L_0(t) | B(t) = x) = E^x(g(W(\cdot)); T_a < T_0).$$

PROOF. Without loss of generality, we may suppose  $0 \leq g \leq 1$ . From (1.1), we obtain

$$L_x(t) \circ \phi_t = T_x \wedge t, \quad B(\gamma(t) + s) \circ \phi_t = B(T \wedge t - s).$$

For  $s < t$  we have by Lemma 1

$$\begin{aligned} E^{y,t,x}(g(Z(\cdot)); L_0(t) < L_a(t)) &\geq E^{y,t,x}(g(Z(\cdot)); L_0(t) < L_a(t) \leq s) \\ &= E^{x,t,y}(g(W(\cdot)); T_0 < T_a \leq s) = E^x \left( \frac{p(t-s, B_s, y)}{p(t, x, y)} g(W(\cdot)); T_0 < T_a \leq s \right). \end{aligned}$$

As  $t \rightarrow \infty$ , the right side tends to

$$E^x(g(W(\cdot)); T_0 < T_a \leq s)$$

by the Dominated Convergence Theorem. As  $s$  is arbitrary, this shows

$$(1.7) \quad \liminf_{t \rightarrow \infty} E^{y,t,x}(g(Z(\cdot)); L_0(t) < L_a(t)) \geq E^x(g(W(\cdot)); T_0 < T_a).$$

Let  $g = 1$ ; we obtain

$$(1.8) \quad \liminf_{t \rightarrow \infty} P^{y,t,x}(L_0(t) < L_a(t)) \geq P^x(T_0 < T_a) = \frac{a-x}{a}$$

and

$$(1.9) \quad \liminf_{t \rightarrow \infty} P^{y,t,x}(L_a(t) < L_0(t)) \geq P^x(T_a < T_0) = \frac{x}{a};$$

since the right side of (1.8) plus the right side of (1.9) equals 1 and

$$P^{y,t,x}(L_0(t) < L_a(t)) + P^{y,t,x}(L_a(t) < L_0(t)) \leq 1,$$

these imply that

$$(1.10) \quad \lim_{t \rightarrow \infty} P^y(L_0(t) < L_a(t) | B(t) = x) = \frac{a-x}{a},$$

$$(1.11) \quad \lim_{t \rightarrow \infty} P^y(L_a(t) < L_0(t) \mid B(t) = x) = \frac{x}{a},$$

$$(1.12) \quad \lim_{t \rightarrow \infty} P^y(L_0(t) = L_a(t) \mid B(t) = x) = 0.$$

Replacing  $g$  by  $1 - g$ , we obtain from (1.10), (1.11), (1.12) that

$$(1.13) \quad \limsup_{t \rightarrow \infty} E^{y;t,x}(g(Z(\cdot)); L_0(t) < L_a(t)) \leq E^x(g(W(\cdot)); L_0(t) < L_a(t)).$$

Combining (1.7) with (1.13), we have (1.5). Using a similar argument, we can obtain (1.6). □

**THEOREM 1.** *If  $g \in b\beta_\Delta^\infty$ , then for any  $y$  and  $0 < x < a$  we have:*

$$(1.14) \quad \lim_{t \rightarrow \infty} E^y(g(Z(\cdot)) \mid B(t) = x) = E^x(g(W(\cdot))).$$

**PROOF.** The conclusion follows from Lemma 2. □

**COROLLARY.** *For  $s > 0$ , we have:*

$$(1.15) \quad \lim_{t \rightarrow \infty} P^y(L(t) < s \mid B(t) = x) = P^x(T < s).$$

**PROOF.** Taking

$$g(x) = \begin{cases} 0 & x \in R^1 \\ 1 & x = \Delta \end{cases}$$

in (1.14), we obtain (1.15). □

**THEOREM 2.** *For any  $y$ ,  $0 < x < a$  and integer  $k \geq 1$ , we have:*

$$(1.16) \quad \lim_{t \rightarrow \infty} E^y(L^k(t) \mid B(t) = x) = E^x T^k.$$

**PROOF.** Let

$$q_{s,t} = \frac{p(t - s, B_s, y)}{p(t, x, y)} = \frac{dP^{x;t,y}}{dP^x} \quad \text{on } F_s^0.$$

We take  $s = t/2$  and note  $q_{t/2,t} < \sqrt{2}e^{(x-y)^2/t}$ , so we have from Lemma 1:

$$(1.17) \quad \begin{aligned} E^y(L^k(t) \mid B(t) = x) &= E^{x;t,y}((T \wedge t)^k) \leq E^{x;t,y}\left(T^k; T < \frac{t}{2}\right) + t^k P^{x;t,y}\left(T > \frac{t}{2}\right) \\ &< \sqrt{2}e^{(x-y)^2/t} \left\{ E^x\left(T^k, T < \frac{t}{2}\right) + t^k P^x\left(T > \frac{t}{2}\right) \right\}. \end{aligned}$$

Now  $t^k P^x(T > t/2) \leq 2^k E^x T^k$ , hence if  $t > 1$ , then the right side of (1.17)

$$\leq 2^{k+1} \sqrt{2} e^{(x-y)^2} E^x T^k < \infty.$$

This implies that for each  $k$  there exists a constant  $M(x, y, k)$  such that

$$(1.18) \quad \sup_t E^y(L^k(t) \mid B(t) = x) \leq M(x, y, k) < \infty.$$

The conclusion of Theorem 2 follows from (1.15); and (1.18) (see [1], 4.5.2). □

**2. Application to Brownian excursion.** We use the following notations:

$$\begin{aligned} Y(t) &= |B(t)|, & h(t) &= \inf\{s \mid s \geq t, B(t) = 0\}, \\ M^1(t) &= \max_{\gamma_0(t) \leq s \leq t} Y(s), & M^2(t) &= \max_{t \leq s \leq h(t)} Y(s), \\ M^3(t) &= \max_{\gamma_0(t) \leq s \leq h(t)} Y(s), \end{aligned}$$

$$g(t, 0, y) = \frac{|y|}{\sqrt{2\pi t^3}} e^{-y^2/2t}.$$

We can prove some results in Chung [2] by the above methods in an easier way. For example:

1. For  $0 < s < t, y > 0$ , we have:

$$(2.1) \quad P(\gamma_0(t) \in ds, Y(t) \in dy) = \frac{y}{\sqrt{s(t-s)^3}} e^{-y^2/2(t-s)} ds dy.$$

Noting  $L_0(t) = t - \gamma_0(t)$ , we obtain (2.1) from (1.1) and (1.3).

2.

$$(2.2) \quad P(M^1(t) \leq a | L_0(t) = r) = 1 + 2 \sum_1^\infty (-1)^n e^{-n^2 a^2 / 2r},$$

where  $0 < r < t$ .

PROOF. We have

$$(2.3) \quad \begin{aligned} P(M^1(t) \leq a, L_0(t) \in dr) &= 2P(L_0(t) < L_a(t), L_0(t) \in dr) \\ &= 2 \int_0^a P^{0;t,y}(L_0(t) < L_a(t), L_0(t) \in dr) p(t, 0, y) dy. \end{aligned}$$

We know from (1.4) that the right side of (2.3) equals

$$(2.4) \quad 2 \int_0^a f(y, r) p(t-r, 0, 0) dy.$$

By (2.1) we have  $P(L_0(t) \in dx) = dx/\pi\sqrt{r(t-r)}$ , hence the left side of (2.3) equals

$$(2.5) \quad \sqrt{2\pi r} \int_0^a f(y, r) dy,$$

where  $f(y, r) = -\sum_{n=-\infty}^\infty p_y(r, 0, 2na + y)$ . Integrating out  $dy$  in (2.5), we obtain (2.2).  $\square$

Let

$$\begin{aligned} H(s) &= \begin{cases} Y(\gamma_0(t) + s) & \text{for } 0 \leq s \leq L_0(t); \\ \Delta & \text{for } L_0(t) < s \end{cases}; \\ U(s) &= \begin{cases} Y(T_0 - s) & \text{for } 0 \leq s \leq T_0; \\ \Delta & \text{for } T_0 < s \end{cases}; \\ X(s) &= \begin{cases} Y(s) & \text{for } 0 \leq s \leq T_0; \\ \Delta & \text{for } T_0 < s \end{cases}; \\ Z_0(s) &= \begin{cases} B(\gamma_0(t) + s) & \text{for } 0 \leq s \leq L_0(t); \\ \Delta & \text{for } L_0(t) < s \end{cases}; \\ W_0(s) &= \begin{cases} B(T_0 - s) & \text{for } 0 \leq s \leq T_0; \\ \Delta & \text{for } T_0 < s \end{cases}. \end{aligned}$$

Next, we shall prove some relations among processes  $H, U$  and  $X$ .

**THEOREM 3.** *If  $g \in b\beta_\Delta^\infty(R^+)$  ( $R^+ = [0, \infty)$ ) and  $x > 0$ , we have:*

$$(2.6) \quad \lim_{t \rightarrow \infty} E(g(H(\cdot)) | Y(t) = x) = E^x(g(U(\cdot))).$$

PROOF. The proof of Lemma 2 is applicable if we delete  $L_0(t) < L_a(t)$ ,  $T_0 < T_a$  and replace  $Z(\cdot)$  by  $Z_0(\cdot)$ ,  $W(\cdot)$  by  $W_0(\cdot)$ . We obtain

$$\lim_{t \rightarrow \infty} E(g(Z_0(\cdot)) | B(t) = x) = E^x g(W_0(\cdot)).$$

Since

$$E(g(H(\cdot)) | Y(t) = x) = E(g(Z_0(\cdot)) | B(t) = x)$$

and

$$E^x g(W_0(\cdot)) = E^x g(U(\cdot)),$$

we obtain (2.6).  $\square$

Using the same argument, we can obtain results similar to (1.15) and (1.16).

THEOREM 4. If  $g_1, g_2 \in b\beta_\Delta^\infty(R^+)$  and  $x > 0$ , we have:

$$(2.7) \quad \lim_{t \rightarrow \infty} E(g_1(H(\cdot)) \cdot g_2(X(\cdot) \circ \theta_t) | Y(t) = x) = E^x g_1(U(\cdot)) E^x g_2(X(\cdot)).$$

PROOF. This follows from the Markov property and Theorem 3.  $\square$

Theorem 4 shows that  $H$  and  $X \circ \theta_t$  are asymptotically conditionally independent relative to  $P^{0,t,x}$  as  $t \rightarrow \infty$ .

If we take  $g_1(H(\cdot)) = I_{[0,a]}^{(M^1(t))}$ ,  $g_2(X(\cdot) \circ \theta_t) = I_{[0,a]}^{(M^2(t))}$  and note that

$$M^3(t) = M^1(t) \vee M^2(t),$$

then we have

$$(2.8) \quad \lim_{t \rightarrow \infty} P(M^3(t) \leq a | Y(t) = x) = \left(\frac{a-x}{a}\right)^2.$$

Taking

$$g_1 = g_2 = \begin{cases} 1 & x \in R^+ \\ 0 & x = \Delta \end{cases}$$

and noting that  $(h(t) - t) = T_0 \circ \theta_t$ , we obtain

$$(2.9) \quad \lim_{t \rightarrow \infty} P(L_0(t) < s_1, (h(t) - t) < s_2 | Y(t) = x) = \int_0^{s_1} g(u, 0, x) du \int_0^{s_2} g(v, 0, x) dv.$$

We can obtain other important results if we take some special  $g_1$  and  $g_2$ .

**Acknowledgment.** The author is grateful to Professor K. L. Chung for suggesting the problems and for his constant guidance.

### REFERENCES

- [1] CHUNG, K. L. (1974). *A Course in Probability Theory*. 2 ed. Academic, New York.
- [2] CHUNG, K. L. (1976). Excursions of Brownian motion. *Ark. Mat.* **14** 155-177.
- [3] DYNKIN, E. B. (1965). *Markov Processes, Vol. II*. Springer-Verlag, Berlin.
- [4] GETTOOR, R. K. and SHARPE, M. J. (1979). Excursion of Brownian motion and Bessel processes. *Z. Wahrsch. verw. Gebiete.* **47** 83-106.
- [5] ITO, K. and MCKEAN, H. P. (1965). *Diffusion Processes and Their Sample Paths*. Springer-Verlag, Berlin.

DEPARTMENT OF MATHEMATICS  
NANKAI UNIVERSITY  
TIANJIN, PEOPLE'S REPUBLIC OF CHINA